N>R~ WNE

TRAILBSSS

Towbar Fitting Instructions

Part Number TT131
Rating 950K g

Ensure all hardware items have been included.

Remove spare wheel.

Remove rear most rubber grommet from spare wheel well.
Remove shipping hooks from both ends of sub frame.

Lift towbar into position so as to align with captive nuts and hole in spare wheel well.
Fit all bolts supplied as per diagram.
Tighten all bolts to torque listing.
Refit spare wheel.

RECOMMENDED ASSEMBLY TORQUE LISTING

Diameter Grade 8.8 Bolt

M6
M8
M10
M12
M14
M16

Nm
9.5
21.7
43.4
77.3
121.0
189.8

THE WORKHORSE OF AUSTRALIA’STOWBARS

To Suit TOYOTA COROLLA SEDAN & WAGON 12/01-ON

I ssue Date 24/03/03

N

~




1-LUG PTT13

e 2of 2
\ Page 20 THE WORKHORSE OF AUSTRALIA’STOWBARS

TRAILBSSS

Towbar Fitting Instructions
To Suit TOYOTA COROLLA SEDAN & WAGON 12/01-ON
Part Number TT131
Rating 950K g

1-M190 x 30 1.5 COACH BOLT
1- M10 S/WASHER
1-M10 x1.6P NUT

1- PENNY
280 x 6mm
10.5 Sq HOLE

2-M16 SIWASHER

4-M12 x 35 1.28P BOLT
4- M12 S/IWASHER

I ssue Date 24/03/03

N

~




